0% - 60%

PAT 1

Erstellt von Tom 2011
|_Uber 100% |
Elias
Namen: Horngacher
1) StoR-Geschwindigkeit] 2| 3] 4 | | | | | | | |
@ Soll: 3,33 3 0 0 0 0
Faktor (Y) 30 30 30 30 30
Points (@ x ) [T | 0 0 0 0
2) StoR-Geradlinigkeit] 2] 2] 2 | | | | | | | |
3
@ Soll: 2,50 2,25 0 0 0 0
Faktor (Y) 40 40 40 40 40
Points (@ x Y) 90 0 0 0 0
Summery| 180 0 0 0 0
3) Nachlauf-Wirkung] 12| 10] 10 | | | | | | | |
@ Soll: 11,00] 10,66666667 0 0 0 0
Faktor (Y) 9,09 9,09 9,09 9,09 9,09
Points (3 x Y) 0 0 0 0
Summery| 0 0 0 0
4) Rucklauf-Wirkung] 5] 5] 6 | | | | | | | |
@ Soll: 10,00) 5,333333333 0 0 0 0
Faktor (Y) 10 10 10 10 10
Points (@ x Y) 53 0 0 0 0
Summery| 0 0 0 0
5)Kl. Pos.-Bereich _a] 3| 5/ 5 | | | | | | | |
bl 2f 4f of | | [ ] [ ] [ ]
@ Soll: 3,33 3,17 0,00 0,00 0,00 0,00
Faktor (Y) 30 30 30 30 30
Points (3 x Y) 0 0 0 0
Summery| 0 0 0 0
6) Gr. Pos.-Bereich _a] 1] 1] | | | | | | | |
bl 2 1 [ 1 [ 1 [ 1 [ 1
@ Soll: 3,33 2 0 0 0 0
Faktor (Y) 30 30 30 30 30
Points (@ x Y) 60 0 0 0 0
Summery| 0 0 0 0
7)PressBande _a] 1] 3] 5 | | | | | | | |
bl 1] 4f 2f | | [ [ [
@ Soll: 4,00] 2,666666667 0 0 0 0
Faktor (Y) 25 25 25 25 25
Points (2 x Y) 67 0 0 0 0
Summery| 552 0 0 0 0
8) Endlos-Ubung] 0] 0] 0 | | | | | | | |
@ Soll: 4,50 0 0 0 0 0
Faktor (Y) 22,22 33,34 33,34 33,34 33,34
Points (3 x Y) 0 0 0 0 0
Summery| 552 0 0 0 0
9) Standardballe] 3] 0] 0 | | | | | | | |
of 2 [ [ [ [
@ Soll: 2,00 1 0 0 0 0
Faktor (Y) 50 50 50 50 50
Points (2 x Y) 50 0 0 0 0
Summery| 602 0 0 0 0
10) 9-Ball Situation] 9] 2| 4 |1 |1 |1 |1
@ Soll: 4,50 5 0 0 0 0
Faktor (Y) 22,22 22,22 22,22 22,22 22,22
Points (& x Y) 0 0 0 0
Summery| 713 0 0 0 0




